P 2L d https://lwww.pass2lead.com/cpim-mpr.html
aSS ea 2024 Latest pass2lead CPIM-MPR PDF and VCE dumps Download

https://Pass2Lead.com

CPIM-MPRYI%AS

Certified in Production and Inventory Management - Master Planning of
Resources

Pass APICS CPIM-MPR Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass2lead.com/cpim-mpr.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by APICS
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp

Q00O

Satisfied Customers

CPIM-MPR VCE Dumps | CPIM-MPR Practice Test | CPIM-MPR Braindumps 1/3


https://www.pass2lead.com/cpim-mpr.html
https://www.pass2lead.com/cpim-mpr.html
https://www.pass2lead.com/cpim-mpr.html

P 2L d https://lwww.pass2lead.com/cpim-mpr.html
aSS ea 2024 Latest pass2lead CPIM-MPR PDF and VCE dumps Download

—— https://Pass2Lead.com

QUESTION 1

A pegging report:

A. Similar to a where-used report

B. Shows only those parents for which there is an existing requirement

C. Shows the parents creating the demand for the components, the quantities needed , and when they are needed
D. All of the above

Correct Answer: D

QUESTION 2

Which of the following is generally a function of the physical distribution system?
A. Production activity control

B. Production planning

C. packaging

D. bill of material

Correct Answer: C

QUESTION 3

A bill is used when companies usually make more than one product and the same components are often used in several
products

A. Single-level bill
B. Multiple bill

C. Multilevel bill
D. Indented bill

Correct Answer: B

QUESTION 4

On the average a firm has 10 weeks of work-in-process and annual cost of goods sold is $15 million. Assuming that, the
company works 50 weeks a year. What is the dollar value of the work-in-process?

A. 1,000,000
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B. 1,000,500
C. 1,500,000
D. None of these

Correct Answer: C

QUESTION 5

Total the forecast demand for the planning horizon.

Determine the opening inventory and the desired ending inventory Calculate the total production required as follows:
Total Production = total forecast + back orders

+

ending inventory -opening inventory

Calculate the production required each period by dividing the total production by the number of periods.
Calculate the ending inventory for each period.

Above is the general procedure

A

for developing a level production

B.

to forecast capacity requirements to meet demand

C.

To identify the production gaps

D.

All of these

Correct Answer: A
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